1. (10 points) A circular puddle has radius 3 feet. Harry, the guinea pig,
plans to walk through the puddle and cool off.

Harry is located 5 feet east and 4 feet north of the center of the puddle and
he plans to walk directly toward the westernmost edge of the puddle. Harry
walks at a constant speed of 1.3 ft/sec.

How long, in seconds, will it take Harry to first enter the puddle?
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2. (10 points) A tour boat for whale watchers is sitting in one spot out on the ocean. The boat
has a radar that will detect any whale within a radius of 4 miles. A whale is currently located
4 miles west and 6 miles south of the boat. The whale travels directly toward the easternmost
edge of the radar zone at 10 mph. How long (in hours) will the whale be in the radar zone?
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